DIPLOMA CIVIL SEMVI  FAQ OF SUB:CQCM (3360602)

Explain all the methods for computation of area.

Difference between accuracy and precision W

Define following:Standard error, Most probable error,
maximum error, 95% error

per LS.

Write Requirement of Cement as

State the methods to calculate area and volume and

formula for each one.

Write important points covered by NBC.

steps for installation of ISO 9000 Quality System.

GRIHA certification agency for green building.
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(i) WildT- 1000 electronic theodolite
' B - 2 : WA

(i) Wild T - 2000 and T — 2000 S electronic theodolite

(i) Wild TC — 2000 electronic Techeometer
wild T — 1000 Raldade a4t 1”7

3l S Ha B.
1.11 AlsAS 21 uAddl (Accuracy and precision) : (Dec. 2012)

Accuracy (@sS) s A A s dlig AL AR
3 willg Het d-L AR yeudll wo % D5 S dl g He A
2™, accuracy el degree of perfection ol 8.

. Rz 9t 25 horizontal angle 6L A4l - §AD

el.d.
A — vigld Wy 65° 40° 20" Wl §. wuiR adas B el iy 65° 39" 0
65° 40° 007 S 2das A L s, adas B sl au © AM sSA.

Q3L ousidl GUR 2R A 9.

el S 2
B2 m <l slsed e
> Ul Pre
a3 A - 26
e = xdl Aol
Seadd : A 2

SUIUENEEIE wd ®, Wild T — 2000 RAldase 4t 0.017

yeudll k2g W5 % aeuld 9.
(accurate) & 4 PRETUR

L el gL Al »d 9. udad
07 Wil . A visud w4

Accuracy
%  Precise instruments

» Precise methods
» Good planning

Precision (addl) :
el 2 1S ueL dlig WM 3 o @ (quantity) "t A~ HE (L yer Bad 89 yeu) db

Yoq <25 B d cald 8.

(a)

ruments, methods 2 observations 3 qurda degree of perfectio

23 precision > inst
culd 8.
@3l 3 & Bigal add YR Secllz 2 93 Mo % slaepyds AR vid wudi 530.45 m, 530.44 §17 @)
530.46 m ugx usd. U Ao wL suselleadl veL ¥ 1ws 3. el el precision AR B 2
saqu. uig 2ull doud 30 m wgd Wi deus 29.90 m i dl dlig 3y accurate Al B s8a 117 (b)
Gl Su dg €xul o3l <l SRR 3 e wdl Aselloat
1.17 ()

»uM, Precision G4 &l dl accuracy
qail % 1295 S11 uig A el s < el .
Example—1: 5 Sl el 6 wedL A4 adam s
S - 1 : 50.385 m, 50.394 m, 50.380 m 2t 50373'm
n - 2 : 50364 m, 50.365 m, 50.363 m »q 50.364 m

A add W Ay 50.382 m St dl 581 3 s4L M accurate &

Qi g2 sai 20l et 2w (1A A D

i sul U Precise 9.

Solution :
50.385 + 50.394 +50.380 + 50.373) _
A - 1 AU KA = | S R ge e :
4 €
EL

=50.383 m
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h)xd

=(h; + hy + hy +
hy, hy = yorupdl Gl
d = 23y el dnd
n = eyatl Ava
L = nd = adaa L R

Ul hy,

oyl dond

(2) uR amdl RuH (Average ordinate rule) :

E
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il Tl BUHIR IvUAL N AL O A 2 O, €35 Gl DL iddoll Huaril 24 9.
sy, ol % Aol W adae el dous < opaaill dasa 1 9.

(hy+h, +h, +hy+
(n+1)
(hy+h, +h, +hy +
(n+1)
hg, hy» hy ... wgearll Glaus
d = ¢35 awardl dous
0 = eyt v, n + 1= aedHdl =
L = nd = udae i 3 2R el dous

DEEL

(3) umdoisl [ (Trapezoidal rule) :
» Al el R wrdasti qdall el 2d B, 2w eds wndosd Ansn sdl, axl
w20l 52l 5@ dasa %A 8. %l Fig. 1.20
Boign = A+ Ay + Ayt Ay
= —————(h° t h') xd+ -—————-(h' i h:) xd +—————(h: % h") xd+ ......——————(h"_’ +8,) xd
2 2 2 2
i (hg +2h, + 2h, +2h, +....2h, + h,)
2
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